	[image: image2.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper - 2008

Class- X

Subject – Mathematics
Time: 3 hours                                                                              M.M.: 80

SECTION – A ( 1 mark each)

1. Why the number 16 n, where n is a natural number, cannot end with zero?
2. If – 2 is a root of the equation 3x 2 – 5x + 2k = 0, then what is the value of k ?
3. Write the polynomial whose zeroes are 1 and – 3.                  

4. If sin A + cos A = 2 , then find the value of sin A cos A.               

5. What is the distance between two parallel tangents of a circle of the radius 4 cm ?
6. If the ratio of the corresponding sides of two similar triangles is 2 : 3, then what is the ratio of their corresponding height ?
7. What is the maximum number of circles of radius ½ cm that can be cut from a rectangular sheet of paper of dimensions 22 cm ( 4 cm?
8. A die is thrown twice. What is number of possible outcomes? 
9. What is the median of first eight prime numbers?
10. On comparing the ratios a1/a2, b1/b2 and c1/c2, find out whether                              3x + 2y = 5; 2x – 3y = 7 are consistent or inconsistent.
SECTION – B (2 mark each)

11. Express sin 76° + cos 63° in terms of trigonometric ratios of angles between 0° and 45°.

12. Solve for x and y : 2x + 3y = 8 and 4x + 6y = 7.

OR

       Solve for x by completing squares: 2x 2 – 5x + 3 = 0                                                

13. Find the coordinates of the points of trisection of the line segment joining the points A (2, 2) and (– 7, 4).  
14. [image: image2.png]A carton consists of 100 shirts of which 88 are good, 8 have minor defects and 4 have major defects. Jimmy, a trader, will only accept the shirts, which are good, but Sujata, another trader, will only reject the shirts, which have major defects. One shirt is drawn at random from the carton. What is the probability that (i) it is acceptable to Jimmy? (ii) it is acceptable to Sujata?                                                                                                                                                                              

                                                                                                          A                                 C
15. In the fig., AC is parallel to BD.                                                    
     Is AE/CE = DE/BE ? Justify your  answer.                                                             E
                                                                                                                    B                                          D
  SECTION – C (3 mark each)
16. Use Euclid’s division lemma to show that the square of any positive integer is either of the form 3m or 3m + 1 for some integer m.
17. The coordinates of the centroid of the triangle whose vertices are (a, b); (5, 2) and (3, – 4) are (3, – 1). Find the values of a and b.
OR

    Find the values of p and q for which the point A(p, q) divides the line  

    segment joining the points (4, – 3) and (1, 9) in the ratio 1 : 2 (internally).
18. Find the area of the triangle whose vertices are (– 4, – 2); (– 3, – 5) and (3, – 2).

19. Solve the following system of equations graphically: x + y + 1 = 0 and                       3x + 2y – 12 = 0. Shade the region bounded by these lines and the           x –axis and write the vertices of the triangle so formed.
20. If the sum of first n – terms of an AP is given by Sn = 3n2 – 4n, find the nth term and hence the 5th term of the AP.
OR

    If the nth term of an AP is given by tn = 4n – 1, find the sum of first 24  

     terms of the AP.
21. Evaluate tan13° tan14° tan60° tan76° tan77° + 2(cos2 40° + cos2 50°) - sec2 ( + tan2 (                 
OR
    Prove that      cos A – sin A + 1        =  cosec A + cot A
                            cos A + sin A – 1                                                             

22. In an equilateral triangle, prove that three times the square of one   

       side is equal to four times the square of one of its altitudes.
23. If two zeroes of the polynomial x + 3x – 20x – 6x + 36 are (2 and – (2, find the other zeroes of the polynomial. 
24. Draw a triangle ABC with side BC = 7 cm, (B = 45°, (A = 105°. Then, construct a triangle whose sides are 4/3 times the corresponding sides of triangle ABC.
25.  In given figure, ABCD is a square whose each side is 14 cm. APD and BPC are semicircles. Find    

       the area of the shaded region. 
                                   [image: image1.png]



SECTION – D (6 mark each) v                               
26. If the median of the distribution given below is 28.5, find the values of x and y.
	Class Interval
	0 – 10
	10 – 20
	20 – 30
	30 – 40
	40 – 50
	50 – 60
	Total

	Frequency
	5
	X
	20
	15
	Y
	5
	60


27. State and prove Basic Proportionality Theorem
       Using the above theorem, if ABCD is a trapezium whose diagonals 
        intersect each other at O show that AO/OC = BO/OD. 

28. Two water taps together can fill a tank in 75/8 hours. The tap of larger diameter takes 10 hours less than the smaller one to fill the tank separately. Find the time in which each tap can separately fill the tank.
29. A crow is sitting on the top of house. The house is 40 m high. The angle of elevation of the crow as seen from a point on the ground is 45°. The crow flies away horizontally and remains at a constant height. After 3 seconds, the angle of elevation of the crow from the point of observation becomes 30°. Find the speed of the crow.
OR

      From the top of a tower the angle of depression of two objects on the   

      same side of the tower are found to be  ‘(’ and ‘(’ (( > ().If the distance    

      between the objects is p metres, show that the height ‘h’ of the tower   

      is given by    h   =   p tan ( tan (
                                    tan ( - tan (
30. A container, opened from the top and made up of a matel sheet, is in the form of a frustum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20 cm, respectively. Find the cost of milk which can completely fill the container, at the rate of Rs. 20 per litre. (Take ( = 3.14) 

OR

        A solid toy is in the form of a hemisphere surmounted by a right circular  

     cone. The height of the cone is 2 cm and the diameter of the base is              

4 cm. Determine the volume of the toy. If a right circular cylinder   

circumscribes the toy, find the difference of the volumes of the cylinder and the toy.  (Take ( = 3.14)
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